TOSHIBA RF POWER AMPLIFIER MODULE

S-AU21

800MHz UHF POWER AMPLIFIER MODULE UniE A
(USA CELLULAR RADIO) ) 660
FEATURES: 6 0.0
. Built-in Driver Stage — 528 2-R21+02
. Output Power (6W) is Directly Gained by VCO(1lmW). 11 8 o
. H H
. Output Power : Po=6W i 0w 2
pu ° O . i
. Minimum Gain : Gp=37.7dB 6—-05+015
. Efficiency : 7T=35% Lz [Blefs o | ., =
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. 50Q Input/Output Impedance 234 >
285
. Guaranteed Stability s
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MAXIMUM RATINGS (Tec=25°C) ‘E[""“"" oo—af
CHARACTERISTIC SYMBOL RATING UNIT o j
S
DC Supply Voltage Veel 11 v
1. RF INPUT
DC Supply Voltage Vee2 17 2 Vool
DC Supply Voltage v 17 & Vocz
upply g cc3 & Voos
DC Supply Voltage Vees 17 5 Vees
6 RF OUTPUT
RF Input Power Pi 3 W 7. GROUND (FLANGE)
Operating Case Temperature Te(opr) | =-30~100 °c JEDEC _
Range BIAT —
Storage Temperature Range Tstg -40~110 °c TOSHIBA 5—53F
Weight : 35g
ELECTRICAL CHARACTERISTICS (Tc=25°C)

CHARACTERISTIC SYMBOL TEST CONDITION MIN. | TYP.| MAX. | UNIT
Frequency Range frange - 825 - 845 | MHz
Output Power Po 6 - - W
Power Gain Gp Pi=1lmW, Vgc1=8V 37.7 - - dB
Total Efficiency 7T Vee2=Vee3=Vees=12.5V 35 - - %
Input VSWR VSWRin |Zg=21=50Q - 1.5 2.5 -
Harmonics HRM - - -25 dB

Vcc1=8v, Vcc2=12.5V
Load Mismatch - Pi=1mW, Vcc3=Vgcs=15V No Degradation -
VSWR load 20:1 all phase
Pi=1mW, Vcc1=8V All spurious
— _ Vee3=Vecs=12.5V output than 60dB _
Stability Vee2=0~12.5V below desired
VSWR load 3:1 all phase Elgpsl
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